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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What are the main characteristics of an underdeveloped

economy ? Mention the obstacles to economic

development of these Countries.

vYifodflr vFkZO;oLFkk dh eq[; fo'ks"krk,¡ D;k gSa \ bu ns'kksa

ds vk£Fkd fodkl dh ck/kkvksa dk mYys[k dhft,A

2. Analyse the role of Innovation in Schumpeter’s growth

model.

'kqEihVj ds fodkl izk:i esa uoizorZuksa fd Hkwfedk dk fo'ys"k.k

dhft,A
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3. What is technological dualism and how is it different

from social dualism ?

rduhdh }Srokn D;k gS \ ;g lkekftd }Srokn ls fdl izdkj

fHkék gS \ O;k[;k dhft,A

4. Describe the process of economic development in a

situation of unlimited labour supply.

vlhfer Je iw£r dh ifjfLFkfr esa vk£Fkd fodkl dh izfØ;k

dk o.kZu dhft,A

5. Explain the difference between balanced economic

growth and unbalanced economic growth. Which of

these two is more suitable for the India situation ?

larqfyr vk£Fkd o`f¼ dh vlarqfyr vk£Fkd o`f¼ ls fHkékrk

Li"V dhft,A Hkkjrh; fLFkfr ds fy, bu nksuksa esa dkSu lh

vfèkd mi;qDr gS \

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.



A–9 59 /MAEC–601 ( 4 )

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Distinguish between social indicators and economic

indicators of economic development.

vk£Fkd fodkl ds lkekftd vfHklwpdksa vkSj vk£Fkd vfHklwpdksa

esa vUrj dhft,A

2. Explain low level equilibrium trap.

fuEu larqyu ik'k fl¼kUr dks le>kb,A

3. Distinguish between social dualism and technological

dualism.

lkekftd }Srokn rFkk rduhdh }Srokn esa vUrj crkb,A

4. What is per capita real income. How does it affect

economic growth ?

izfr O;fDr okLrfod vk; D;k gS \ ;g vk£Fkd fodkl dks dSls

izHkkfor djrh gS \

5. Write the concept, need and composition of human

development.

ekuo fodkl dh vo/kkj.kk] vko';drk ,oa la?kVu fyf[k,A

6. Who has been called the “Messenger of development”

in the Recardo Development model.

fjdkMks± fodkl ekWMy esa fdls ^fodkl dk nwr* dgk x;k gS \



A–9 59 /MAEC–601 ( 5 ) P.T.O.

7. Explain the difference between static economics and

dynamic economics.

LFkSfrd vFkZ'kkL= ,oa izkoSfxd vFkZ'kkL= ds chp vUrj Li"V

dhft,A

8. How many stages of economic development has Karl

Marx’s described.

dkyZ ekDlZ us vk£Fkd fodkl ds fdrus pj.kksa dk o.kZu dhft,A

**************


